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L) Quick:
Calculate the result.
a) 1617000 = 21000 = 77 b) 163200 <+ 3400 = 48 c) 9280 = 290 = 32
d) 196000 = 2800 = 70 e) 13090 = 770 = 17 f) 464000 = 29000 = 16
g) 30780 = 380 = 81 h) 19440 + 270 = 72 i) 2044000 = 28000 = 73
j) 60800 <+ 1900 = 32
2) chos
Calculate the result.
a) 1800 + 100 = 18 b) 400 + 10 = 40 c¢) 1400 = 100 = 14
d) 230 =10 =23 e) 330 =10 =33 f) 5400 = 100 = 54
g) 3900 = 100 = 39 h) 9600 <+ 100 = 96 i) 1100 + 100 = 11
j) 3700 + 100 = 37
37) Quick:
Calculate the result.
a) 1056000 = 11000 = 96 b) 141900 + 4300 = 33
c¢) 407000 = 7400 = 55 d) 8000 = 2000 = 4 e) 492800 = 5600 = 88
f) 30100 = 860 = 35 g) 144000 + 2400 = 60 h) 261000 =+ 3000 = 87
i) 306800 + 5900 = 52 j) 30600 + 680 = 45
4) caos
Calculate the result.
a) 460000 <+ 10000 = 46 b) 890000 =+ 10000 = 89
c¢) 32000 <+ 1000 = 32 d) 590 = 10 = 59 e) 6900 = 100 = 69
f)70+-10=17 g) 4200 =+ 100 = 42 h) 69000 + 1000 = 69
i) 33000 = 1000 = 33 j) 8400 + 100 = 84

Good Luck!
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